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REHAME © FRE28FIATH (K) ~FR285F9IH30H (£) (B3 : A Jblb/kg)
gL — = - ®REH R REERE]| . &R E
== | HTHY 5uE ERERS 0F) | BIM3E | Thomiizny | BIM3T | (hyminar)

EES VT U X BRI EANE 3H(L)| A &HE 13.0 | 7&E 10.6
IEES ITHTX BB LT EHATET 3H(X)| AtEH 8.2 | & 6.9
3 [HE ITHTX 8L/ \LLIH 21H(N) [ A& 8.5 | A& 6.9
L |Hx AMRF v B =E 6H(N) | FBHE 9.6 | ~&H 7.9
5 |[Fx AMRF v BLHEEIZTE [30H(R)| AaE 6.5 | A&l 5.5
6 |Fx AMRF v BRI TRAR 108H(H)| F&E 3.9 | A&l 3.3
MEES ARF v BLARE 6H(N) | & E 9.0 | ~&H 7.2
TIEES ARF v BILHEANEAZS | 6H(N)| ~BHE 5.2 | A&l L5
EESES ARF+ 81 L Fa AT 7THGK)| A& 4,9 | AiEH 4.4
0 |[Fx ARF v B L Pa ] e 2 6H(N) | B E 6.8 | &l 6.0
11 |8 ARF+ £81L T HF0 BT 30H ()| ~&E 4,0 | AEH 3.3
FEES ARF v ERLHEAEE AT 8| 168 0K)| B 12.0 | &8 10.6
ENEES ARF v ERLTHEAR THR)| ~&E 5.0 | A~&H L3
MEES ARF v — A3 21H0K)| T~ BH 7.0 | ~&H 6.3
15 |H=x ARF v — A3 21H0K)| T~ BH 3.7 | A&l 3.5
MEES Fr Y IR =E =] 16H(2)| ~&E 9.0 | ~&H 7.6
17 |89 FaDl) EB LI AT 3H(1)| A& 6.8 | ~EH 5.6
FEES J—% BRI HRAR 108(H)| F&E 4.5 | F~&H 3.9
[ENEES J—+ £81L T H A0 BT 30H ()| ~&E 6.8 | ~EH 5.5
20 |[Hx J—% BfH 6H(N) | B E 8.1 | &l 6.5
AIEES TvAAE B Z=iE0] 21BN R BH 12.4 | ~BE 10.2
YIEES TvAAE HLhEBlZ7E [ 308(&)] ~ 2L 5.7 | A&l L9
23 |Hx TvAAE BILHENETAZS | 6H(N)| FaE 6.8 | &l 5.7
YA EES I H1E BLMmEXLBARA]| THOK)| AEE 9.0 | A& 8.1
25 |Hx TvAAE BiH 108 (1) F&E 5.9 | A&l L8
26 |Hx TvAAE A= BEHN) | F&E 11.0 | A&8 10.0
IEES 5142y (F) [Blm/\LE 21BN T BH 11.8 | ~&E 9.4
28 |Hx TIRF B Z=iE0] 21BN R BH 11.7 | ~8E 9.7
I EES AN HRF BLMEXLBARA]| THOK)| AEE 9.2 | A%&H 8.3
30 |Hx FTIRF A= BEHN) | F&E 7.9 | ~&H 7.1
31 |89 JILLSYF EB LI AT 3H ()| A& 11.8 | A& 9.6
32 |Hx YR B Z=iaH] 1HR)| F&E 11.6 | ~&E 9.3
33 |Hx KV R R BB fE a1 G Bl 5H(B)| &l 12.3 | ~8E 9.8
3 |Hx ExXF B ALE 21BN R BH 7.6 | ~&H 6.4
35 |Hx F X BT = A 268(B)| ~&E 7.9 | ~&H 6.4
36 |Hx F X A= BEHN) | F&E 6.4 | ~&H 5.4
37 |Hx F X R BB /B a1 G Bl 5H(B)| &l 10.4 | ~&E 8.4
38 [Fp —VIY B hZ 150 2THCN) [ A& 13.8 | A& 10.9
39 [Fp —VIY 8L mh = FHET 2THCN) [ A& 4.5 | A& 3.8
M EES F—~> BT = A 1BA)| *&E 8.4 | ~&H 6.8
AIEES ="KV E BRI EHATHT 3H(E)] A aE L4 | A EH L.k
IV EES Sl NS BRI LI 21H0K)| ~BH 11.9 | ~&E 9.3
43 |Hx ="KV E BT = A 1BA)| *&E 8.2 | &l 6.7
M EES JLIN—" ERLLTHERA0 2H(®)| ~ & 8.6 | ~&H 7.0
45 |k GiPk. B=kZ) [BIK B RER A R 30H(2)| &L 4.1 A1EH 3.5
46 K GrEk. mEk®) [JEK B L 2 e 1H(R)| & 4.3 A& 3.6
47 IIE-FocHE (757 &n) [BLmEENsE [ 238&E) 12.9 10.9 59.2 7.9
8 IE-=DcHE |19 HR BB B en TG B 268 (8) 624 9.8 218.3 9.1
49 [IIE - FEQHE |[vo~ShT A v x V| TEBAEN 2ZH(®)| * 8.0 37.8 7.7
50 [E- =0 |TI5IXT |ZZbAEN 238 () 70.9 9.9 356.5 9.9
HINERER R APPEY: B RS RAAAT 308 (2) 18.5 8.4 109.9 6.4
52 |l - EDCFE (7595 TR [BEMEEEHET 13HCN)| A& 10.9 | A~i&H 9.4
53 (I - =038 |[XXUA5F (zn) |BRFERIE ERfCH] 268(B)| ~ B 7.8 | 20.5 5.1
5, [l - =DCFE[N\FTESHST  |[ERMEEEHE 8H(AK)| A&t 13.1 | ~#&H 10.8
55 [IIZE - EDCEFE [RT7o XY (&) [ERILTHEAE 26H(B)| A&t 1.4 10.0 6.0
INERERM AL 2Ll 23H(®)| A&H 7.2 | A&H 5.9
HEINEREI A EERE AoBERE I LIET 5H(B)] A&HE 7.1 23.6 4.7
58 [IE-=0DCFE[(=3oAh 8L = HET 1E(B)| ~%E 8.4 | A1EH 7.2
EIINEREDRE A EERE:) 8L EEARET 1E(B)| ~%E 13.0 | A1&H 10.7
60 [Lx-FTDCFE|=3TAH A= 15H(K)| A& 8.2 | A1&EH 7.1
61 |F=E 7oE LT ERE 2H(E)| AEH 6.0 | A1&EH 5.2
62 |F=E 7oE LT ERE 298 (K)| A& 6.6 | AR 5.7
63 |E=E 1FID LLmh/\sH THOK)| A& 10.2 | A&H 8.2

X RHRFEREE “TRE” ERRo SEFEEM @ BT



BREETRFOMSEREER CGEHREXLZDXFHENSDNDA) 2/2
REER : FRI28FIF1H (K) ~FrE28F9IH30H (&) (BT @ A" Lb/kg)
=1 — = o B&ER | . BHERERE]| | . EHERRE
m=| HA7TIY 5uE PRERS 0F) | PIM3E | Thomiizny | BIMBT | hyminar)
[TEES 1FID I IGE=% i} 12H(B)| A& 10.7 | ~&E 8.5
65 [RE 1FID I GE=% i} 12H(B)| A#&HE 4.6 | A&H 3.9
66 [FR=E 1FI9 8L/ \LLIH 2TH(N) | A& 4.2 | ~MEH 3.7
67 |R=E ONT KD BB LT AHRET ()| AH%EH 1.3 | N &H 10.9
68 [RE ONTRD BRI RET 13HCN)|[ R~ i&HE 8.5 | A& 6.1
69 [RE ONTRD HA™ 5H(B)] Ai&HE 8.6 | A& 7.0
70 [BE AES 8L = HET 26H(A)| A& 7.6 | A& 6.2
[EES g1 Al EBFH 28H (K) 15.0 4.9 92.0 3.6
72 |BE g1 BLUFEENRIL [2180K)|] ~E&E 9.3 | A %&H 7.5
73 |[BE g1 LTI ZHE | 23H(2)] A&E 8.5 | A& 7.1
[MEES g1 EIGE=ES: ] 15H(KR)| A i&H 5.4 16.1 4.1
75 |[BE g1 EIGE=ES: ] 26H (8) 9.4 5.3 50.4 4.1
[EES g1 EBLLI T AT 21H0K) [ A& H 10.7 | ~&H 8.4
[HEES 1) BUmsAILETENE| 5SH(B)| A&H 7.1 | A&H 5.8
[FEES g1 FEEB) I 1RHT 26H(A)| A&H 5.5 | A& 4.7
79 [BE 71 HA™ 30H(£)| ~&@E 7.7 | A%&H 6.4
80 [ER= g1 — AT 9H(R)| FBH 5.1 18.9 4.9
81 [R= g1 — AT 95 (£) 8.9 5.4 28.6 5.2
82 |R= g1 N N 29H (R)[ A& 12.2 | ~&E 10.3
83 |E= I o2 B HT 26H(B)| A1&EH 6.7 | A&EH 7.1
84 |R=E I e 2EH BHT 26H(B)| A1&EH 5.6 [ A&H 5.7
85 [RBE 21 R ER A | LT 30H(2)| ~&E 11.0 | ~1&HE 8.8
86 [E= TR BlUmbhi<FzFE |[20BN)]| F&EEH 4.6 | ~MEH 4.0
87 [R= JKD g EIE 14H0OK)[ A &HE 6.9 | ~&H 5.9
88 [R= JRD HAE =&FH] 5H(B)] Ai&E 13.3 | A~&HE 9.5
89 [R= 72w oY — BT AHRE] 3H(E)] A~ igHE 5.6 | A& 4.9
90 [R= JIL—_U— BT 23H(®)| F&H 6.3 | ~&H 5.4
91 [E= TIL— B IhZ 150 13HCN)| RA&H 8.3 | & 6.6
92 [Zoft YV (88) [BIUTEALEREER | 206X | A&EH 9.8 | A&H 7.6
93 [Zof ¥, (§HE®) [BlLmit/ & 23H ()| A%HE 7.6 | ~EH 7.9
9, |ZFDfth 1FY0 (HEX) [ESLUhAaHEETAER | 298 (K)| A% 9.2 | A%&H 7.2
95 [Zoft NFZY K= 2B(®)] ~BgHE 10.8 | ~&HE 8.4
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